[image: image1.png](2) When a rensile siress is applied to a wire, a fensile sirain is produced in the wire. State the
meaning of

tensile stress

tensile strain.

(2 marks)

(b) A long thin metallic wire is suspended from a fixed support and hangs vertically. Weights are
added to increase the load on the free end of the wire until the wire breaks. The graph below
shows how the tensile strain in the wire increases as the tensile stress increases

tensile
stress

tensile strain

With reference to the graph, describe the behaviour of the wire as the load on the free end is
increased. To assist with your answer refer to the point A, and regions B and C

You may be awarded marks for the quality of written communication in your answer.

(5 marks)




